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KIb 12~232 pg/m 2 EH™E|QUCH AZ U
7] 32 nAMoM M8 O|Fle 22X 1~250 pg/m’, &It 1~236 pg/mZ LIE}

= 55 1~154 pg/m’, E7F 1~149 pg/mO|ACE S7[EE7| HE w0
O|HMO| == 1~201 pg/m’, &7t 1~243 pg/mO|USH HE 0|20 EL 1~137
pg/m', &7F 1~165 pg/m'O|RULCE O|HE WHOM HE O EEx&s 212 1~208 pg/m,
1~432 pg/mO|H A7h= Z+ZE 1~243 pg/m', 1~201 pg/m 2 EHMEQYUD, HE 0|3 22
= 2425 1~158 pg/m’, 1~420 pg/m'O| E7t= ZHZF 1~197 pg/m, 1~179 pg/m'O| ALE.

=5 1~191 pg/m,

¥ 1.ooiadE AFE 3 ZI|FEY 38 dF PMI0 s He(FHAA 2= 2%)
. M3 H ER
pa 7z &
ug/ mi) = =2t =20 =k}
Mo 55.2+35 .8 73.8+37.4 45.2+32 .4 54.3+39.8
B (1-231) (11~268) (1~191) (12~232)

M= 32 o 52.3+36.9 48 5+36.1 29.9+23.8 28.1+23.2
=1kl + (1~250) (1~236) (1~154) (1~143)
o157 e b 42 B8£31.1 47.9+34.7 25.7+£22.7 ?9.6+26.3

(F| 4 (1~201) (1~243) (1~137) (1~165)

|ESE=s - 45+32.3 54 B+38.5 32.9+24 43,4431 .3

mESh Z|Ch) (1~208) (1~243) (1~158) (1~197)

a5 g 72+E69.6 47.7+32.7 77.4+394.3 33.5+726 .3

malz (1~-432) (1~201) (1~420) (1~179)

2) WA LY Stdo| U= B ZOMEHX|(PM2)5 & HE

oig WAL L AUS7|E |SX|7|E2 35 pg/m’ (Fu2AH AIMAE H3E, 71 19.10.24)
O|Ct. AlE2 Mg WAMOAM HE O|NMo& B2 1~127 pg/m’, E7F 1~106 ug/m 2 LIEG
ol ME 0|20 = S 7~128 ug/m’, &7t 6~148 pg/m' 22 LIEIGICH AZE 8 S7|8
7] M8 udoAM HE Oo|H™olzs 5= 1~138 pg/m’, &7t 1~85 pug/mLE2 FHEQYD
HE 0|20= S& 1~83 pg/m’, B7F 1~130 pg/m'O|ULCE S7|8H7| HE LWHOAM HE

O|M0| 2= 1~111 pg/m, H7t 1~76 pg/m0|1 M O|F0 == 1~134 pg/m, H7t
1~91 pg/mOIRACt. O|HE HHM HE O === ZZ 1~115 pg/m,
o &7t 42 1~87 pg/m, 1~273 pg/mL2 FHFPEYH HE 0|7
1~134 pg/m’, 1~111 pg/m'O|H EH7t= 242 1~109 pg/m', 1~99 pg/m L2 LtEFELCY.

—
sce 247



B2 DAdg A2 0 2D He ME PM2E =T HL(AjAA 2l A=)
M3 H M7 =
p4 72 (EF - -
ug/ ) =c 2t} =c =l
= ?9.4+19.5 24417 .5 34.1+18.7 39.4420.9
o= (1~127) (1~106) (7~128) (6~148)
A= 9 T 27.9+20.1 15.9+12.4 154121 76.4+19.7
=7 7| + {1~138) (1~85) (1~83) (1~130)
g E%_&if 22 7+16.6 13.8+11.7 25.5+18.8 15.8+£13.9
(F] & (1~111) (1~78) (1~134) (1~91)
= - 23.9+17 .4 17.5+12.6 29,3+21.2 29+1E.8
mESh Z|CH) (1-115) {1~87) (1~134) {1~-103)
|ESE=s 39.5+ 41 43 .5+56.5 25.3+17.8 17.8+£13.9
DAl (1~281) (1~273) (1~111) (1~99)
3) wi L SHd0| U= HL O|LIEIA(CO2) 5= B
Sl WA Lf AMUHSZIE |X7IE: 1,000 ppm (SLEAE AMRE FH3ZE,

19.10.24)0| C}.
ppmO| 1

A

Si=2
1O

= 342~4834 ppm,

d

J

=
AE HE

Mg 0|20= =% 333~3788 ppm,
A 371887 HE WA HE O|HM= | 219~3767 ppm,
O|20|l& £= 381~3986 ppm,
WHOM HE O|H0| SE 240~3923 ppm,
%74 325~4860 ppmO| A
2} 283~4393, 246~41970|0 & 7t=

247t
= 171

Ch. DX E

wHOM HE O|F0= =& 270~4161 ppm,
%7} 358~3983 ppmSZ LIEIGCE AlE
&7} 249~3549 ppmO|
|:|-. _g_7|x4I17|

%7} 366~3800 ppml 2 SHEY
&7t 268~3952 ppmO|1 HE 0|F
WHOM HE O Ers 4

272~5001 ppm, 261~5001 ppmO|1 XHE 0|%

AIF 321~4272

S & 212 342~4838 ppm, 355~4875 ppmO|H & 7tE= Z+ZE 354~4925 ppm, 326~4732
ppmO| AL,
7 3. g A= 5 22FHAEY A = C02 =z HR(AHAA} Sl= 35
24 2= (Che: A& H a4 &
PPM) =g ot = 2t
N 1052 =824 1052 =834 1046755 1060+ 765
(270~4161) (321~4272) (333~3788) (358~3983)
A= g 7 BBE+EE3 BE9 +£E33 1035700 1008 £E80
=233 + (219~3767) (249~3549) (381~3986) (366~3800)
=127 ] E%_ﬁir 995778 1290+ 1003 997 +7682 1236 £330
(& A (240~3923) (342~4834) (268~3952) (325~4860)
05 - 10394797 1047 £813 1252 =886 1246 £ 301
mESh Z o) (283~4393) (246~4197) (342~4838) (355~4875)
mESE= 11444950 1109 +349 1185 +946 1140+919
mE<p:; (272~5001) (261~5001) (354~4925) (326~4732)
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